80th International Scientific Conference of the
University of Latvia

‘\‘}"\_;‘;;9;.::" ’ o -
9% 3 UNIVERSITY Ludmila LOZOVA
) & OF LATVIA PhD student, University of Latvia

TOWARDS CLIMATE NEUTRALITY: DIMINISHING OF THE
CO2 EMISSIONS IN CONSTRUCTION MATERIALS’
PRODUCTION IN LATVIA



Why construction materials?

Multiple EU prescriptive documents (e.g., No. 2018/842) present specific targets of
CO, emissions reduction to be achieved by member-countries (including Latvia) before
2030. The way to achieve such reduction of the CO, is also by using “greener” building

materials In a construction (e.g., increase the use of wooden material)

Q-"\‘AS- tar,
© e\ e
S,nﬁﬂg"a 5 g. 4:'\
SedfZazad -
:g g’-aa, .%m
/ P77
& B 10
W & OF LATVIA
W
N
<
A




19.6.2018 Official Journal of the European Union L 156/39
ANNEX |
MEMBER STATE GREENHOUSE GAS EMISSION REDUCTIONS PURSUANT TO ARTICLE 4(1)

Belgium -35%

Bulgaria -0%

Czech Republic - 14 %

Denmark -39 %

Germany - 38 %

Estonia —13 %

Ireland -30%

Greece — 16 %

Spain - 26 %

France — 37 %

Croatia — 7 %

Italy ~33%

e e R

Latvia —— ,,,z“g UNIVERSITY

& OF LATVIA

Lithuania _9g




~@ epd-norge.no

The Norsegan EPD Foundation

ENVIRONMENTAL PRODUCT DECLARATION

in accordance with |1SO 14025, 1SO 215930 and EN 15804

Environmental production
declaration

Eier av delarasjonen:
Programoperater:

Ulgiver.

Deklrasjonsnummer:
Publseringsnummer:

ECO Platiorm registreringsnummer:
Godsjent dato:

Gyldig tt

How the CO,

Standards (e.g. ISO
21930:2017 Sustainabllity In
buildings and civil engineering
works — core rules for
environmental product
declarations of construction

Infracement CEM | 42,5 N-SR3 MH/LA

IS measured
S SCHWENKG

Schwenk Sverige AB

W e g e e

N a

construction

materials?

UNIVERSITY
OF LATVIA

A1 A3 | A4 | As | B1 | B2 c4

X X X X | mnD | MmnD | MnD | MND | MnD | MND | MnD | MND | MND | MND | MND | MND MND
Miljgpavirkning (Environmental impact)
IParameter Unit A1-A3 A4
fowp kg CO,-eq 8,17E+02| 1,61E+01
loop lkg CFC11 g 1,68E-05| 3,10E-06
lpoce ]tg CHeoeq 8,14E-02| 2,87E-03
AP ko SO, -eq 1,70E+00| 8,66E-02
lep bg PO* eq 3,16E-01| 1,72602
ADPM Jkg Sb -eq 9,55E-05| 2,37E-05
ADPE ImJ 2,356+03| 2,45E+02

resources, ADPE Abiotic depletion potential for foss| resources

GWP Global warming potential; ODP Depletion potential of the stratospheric ozone layer, POCP Formation potential of tropospheric
photochemical oxidants AP Acidification potential of land and water; EP Eutrophication potential; ADPM Abiotic depletion potential for non fossi|

Leseeksempel 9.0 E03=9,0"10-3=0,009
*INA Indicator Not Assessed




Actuality

UNIVERSITY In Latvia construction always has been an important part of national
econom
OF LATVIA y
140000,0
120000,0 -
100000,0
Recent tendencies in new 200000
construction In Latvia 60000,0
40000,0 - _ —— — —
Source: author’s 20000,0 === ‘-_'E-:-:'}f_ré_‘ B
- DD T - T T T T T T T
construction based on * . N ) . N " . N . N ) . N .
- = = o s B s - - o o S LS S s o s
Official Statistics Portal of ﬁ{a m‘l*{b af:‘-*{b ,3“3' HF@ %EDEJ ,,L.:?E“ ’FFEJ mﬁ"? mﬁ"? Fﬁp ,E“F ,.p"f"’ AF"}

Republic of Latvia

Eesidential buildings
— One-dwelling buildinss

B(UP030c)

——— Two- and more dwelling buildinss
Non-residential buildmgs
——Hotels and similar buildmgs
—— O ffice buiddings
Industrial buildings and warehouses
Public entertamment, education hospital or institutional care buildings
Ofher non-residential buildings




UNIVERSITY Actual |ty

J OF LATVIA

According to the Official Statistics Portal of the Republic of Latvia on
2021 Q2:
* wooden production In Latvia occupies 19,8 % from total Latvian export (the manufacturing sub-sector that
probably will be influenced);
« an important memorandum was signed (April 2021) between Latvian Ministry of Economics and diverse local actors of
the wooden manufacturing and construction industry in order to promote use of sustainable construction materials and
construction products in Latvia;
 the topicality of the research is related also to the fact that there are no empirical studies and scientifically
substantiated evidence of the existing performance of the already implemented investment program in Latvia in the

field of construction materials production.




Research’s global goal

BNRD

< s, o,
= ‘_._.“Q.-aa.ﬁ.mp,s w
PR .ggae.ﬂ.n@ 3y -
, SNAEs |
9 &% 9
" el 9%«?:5"';;
\Y

=N

To elaborate a recommended specific mechanism (Impact)

to be offered to construction material production
companies in Latvia, which would help to assess the
factors influencing the production sub-sector (in terms of
CO, emissions reduction). Consequently, that should allow
the companies to become more competitive doing export




1AS L
s ‘“.‘.4"[,/
: 28, <,
2o UNIVERSITY
X\ I
W @ OF LATVIA
v

1) Analyze the development of construction materials production in Latvia
taking into account the requirements related to use of “greener” construction
materials in construction. Analyze Latvia’s export of construction materials

2) Analyze the time-series of salaries in the construction field (with possible
specification in construction material production)

3) And other work subtasks




9 UNIVERSITY Results
@ & OF LATVIA

« Gathering statistics

* Collecting iInformation from different organizations/institutions (e.g.
Investment and Development Agency of Latvia; Construction
Manufacturers Clusters; Riga Technical University)

* Preparation work for the questionnaires




UNIVERSITY Next steps & perspectives

OF LATVIA

To finalize the analysis of the situation
To summarize the theoretical analysis
To formulate questionnaires

To begin work at empirical part

Concrete solutions for our greatest challenges

CHALLENGES OPPORTUNITIES

» Cities produce >70% of global CO. » Contribute to the European Green Deal
emissions. ambition to reduce gas emissions by at
least 55%;
» They account for > 65% of global energy
consumption; » Offer cleaner air, safer transport and less
congestion to citizens;
o They take up only 4% of the EU’s land area;
» Lead in climate and digital innovation,
» Citles are home to 75% of EU citizens. making Europe attractive for investments from
innovative companies and skilled workers,

GOAL

Deliver 100+ climate-neutral and smart cities by 2030
and inspire all other cities to follow suit by 2050

ACTIONS

The Horizon Europe programme will provide €359.3 million in seed funding during
the period 2021-23 to help deliver on the mission;

Launch of a Mission Platform to provide technical, regulatory, and financial assistance
to cities working on the mission;

Cities will prepare, sign and implement Climate City Contracts, co-created with citizens and
local stakeholders;

Launch a portfolio of research and innovation projects and set up a Global Knowledge
Exchange Centre;

A network of national, local and regional authorities will support the cities' transition to
climate neutrality.




Ludmila Lozova
PhD student, University of Latvia

* 6 years work experience in production company (wooden
structures, heavy machinery production industry)

« 2,5 years work experience in over ~200 mio value
construction projects

« worldwide work experience: in Western Europe, Asia, Russia,
projects in cooperation with international partners

 from the 1-st of October, 2021 - PhD doctoral student at
Economics, Business and Management faculty, University of
Latvia

TAS L4
5b Ty
< Oy /
SN
samiani -\ UNIVERSITY
> SfBaUERes
19 S 3\)‘?&'&!’3 ]
< K./ OF LATVIA
<
Q-\
E




Thank you for your
attention!

UNIVERSITY
OF LATVIA




